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Note: Do any ten questions.

1. Do you agree ‘with . the following statements ?
Give reasons for your answer. _ 10

(a) The teacher must point out all the errors-
.made by children and make them memorise
the correct answers so that they do not

make a mistake again.

(b) The product of two numbers can be smaller

than each of the two numbers.
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(c) A good activity is one in which children need

to move around in the class.

(d) If the first two tosses of a coin produce a
head, the third toss is likely to be a tail.

(e) Children do not observe anything unless told =~ - *

to do so by adults.

2. List four essential features of a good a{ctivity. ’
Explain each of these through an example of an

activity for representing 3D in 2D. 10

3. (a) What is the divisibility rule for dividing a
number by 6 ? Use this rule to check
whether 62 and 72 are divisible by 6 or not. 5

(b) What is meant by ‘normally distributed
data’ ? What does the shape of the normal
curve look like ? Give an activity to help the
children of Class IV interpret normally
distributed data. 5
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4. Explain each of the following vterms/phrases

through an example of each : 10
(a) Algebraic view of symmetry |
(b) Median of given data
(c) Taking another person’s perspective
(d) Deductive logic in Mathematics
(e) Regular solids
5. (a) What do the terms °‘assimilation’ and
‘accommodation’ mean ? Explain them with
the help of an example from learning of
probability. : : 4
(b) () What does ‘the ability to. conserve’
mean ? Give an example to illustrate
this with justification.
(ii) What are the abilities needed by a child
to be able to conserve volume ? Justify
your choice of abilities. 6
6. (a) Which of the following statements are frue
and which are false ? Prove or disprove :
each. ' 7
(i) The sum of the squares of two
consecutive even numbers is the square
of an even number.
(ii) The lengths of both the diagonals of a
rectangle are equal.
(iii) Given any set of data, its AM is equal
to its mode. '
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(b)

7. (a)

(b)

What does ‘elaboration’ mean ? How is it
different from ‘repeated practice’ ? Explain
this through an example.

Which of the following are the key features
of a constructivist model ? Give reasons for
your answer.

(i) Children are active agents of their
learning.

(i) Children should be given knowledge
bit-by-bit.

(iii) We should teach children the procedure
to solve problems by following
specifically determined steps
one-by-one in the correct order.

Give an example, with justification, of a
real-life situation in which the concept of
surface area is used. Also suggest an activity
for a child to help her understand the
difference between ‘surface area’ and
‘volume’.

8. What are the four stages involved in the process

of ‘guided constructivist learning’ ? Why is this

process called ‘scaffolding’ ? Explain the stages

in the context of place value of numbers.
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9. (a)

(b)

©

10. (a)

(b)
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How many factors does the square of a
prime number have ? Give reasons for your

answer. 3

Give an example of a social bias from your
surroundings.  Convert this into a
hypothesis. What kind of data will you
collect to verify the truth or falsity of this ? 3

Explain the process of ‘moving from
particular to general’ in the context of a
procedure. Illustrate this through an

example pertaining to decimal fractions. 4

What do procedural and conceptual
knowledge mean ? Give an example of each
with reference to the properties of triangles.
How would you help children develop each
of these areas of knowledge in the context

given ? _ 7

What does ‘tessellation’ mean ? Give an
example of a regular tessellation and an

irregular tessellation. 3
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11. List the five steps involved in solving a
mathematical problem. Illustrate these steps
while solving the problem below :

Place the numbers from 1 to 9 in the circles in the

triangle below so that the sum along each side of
the triangle is 17.

O
Q

LMT-01 ' 6

10



TA.wW.4.-01

wrerfires e nfte & A w
THTOT-OR FHTAHR
(& .Z.dom.)
| e
fea=z, 2015

T UH.A.-01 : i Hiwn

57 : 3 7O Sferhad 3 : 100
| ' (STRET : 70%)

A aﬁs’awywﬁﬁq/

1. *n i FEfaRaa st @ dgaa § 2 oA IS S
. RO AT | 10

(%) == S Tt Hd § 3 off TakE % .
7 foiwes IR TN ST Aige I a=al
F 3% G I ff A FaW wfey A 3
TR TRt 7 | '

(@) T gEA T PG I GHI e 8 Bt
HEEEAI

LMT-01 7 : P.T.O.



(M) uH Rt Afafafy oz G 2 R FA F o
o] ! BT W FWIWIART ST |

(%) R v R A 3o WA aw o o 2,
@ T 9N 3IBTEH W 92 7 H GwrEE B
2

(¥) = = 7% 5t v @ sraci T @
o o & 3 A 3 o

2. T r=dl iafafy i A e fagwand gefag
$if | B # Rfm § el w3 @ ow
nfefafy o1 S 3 g IRE frivar # we
iR | -

3. (%) sivEm A AvRm R o T @ oy &
fore fareeran fem ware | 58 faw g e
Hfe 5 62 3 72, 6 @ @ B § =
Ll |
(@) vam= &9 9 sféq Afwe’ o a9y of € 2
YO 9% W STHR e SR fwdr 2 2
HE IV A1 6 T &Y @ &feq sitwel
4 Frerd faem § 9eg % fiw o il
SdigT |

LMT-01 '8

10



4. Profifigs @amag § 3 TS B SO
ISEW & gl Tee Hif . 10
(%) wuifd &1 sorTr T "
(@) fau M fewst it mfeyswr -

() e g =t o i e
(@) wftra & frmfe T
(5) wheh) S (9 B STHHEA)
5. (%) ‘aftife +@7 iR ‘Gurie wsal & R
a4 2 2 v diEd & & 3qEw
. HEEAT ¥ 3¢ T i | 4
(@) () G W B ogar & own oY @ 2
W R F % e g afa o
Igre iR |
| (i) G & & A & e a=ft °
FHA FHan @ F&0 § 2 S sHand
_ » s ot &, R s Hr g w1 6
6. (%) fafafigd # & +R-A F g7 3N IR
Y1 HGT B ‘?uﬁmaﬁfﬁ@mwﬁz
e 7

G) 2 FHARE G0 GEIal % il i AH
(i) wu wet &1 i B B |

Gi) TH Fd & adl fawot H d«ga
T AT § |

Gii) gt F frht fow v wy= & fom,
a1 FHfTh W, IEF TEAE b
T FAT R |

LMT-01 9 PTO.



(@)

7. (&)

(@)

R’ &1 % a1 2 ? 7 ‘SRR Ay A
e R 7 @ IEW W o W
IR |

frafafega @ @ $9d =Ed ofea 6

e fadivand € 2 3 S & HRoT FaEe |

@) mﬁzﬁ@%ﬁmﬁﬁmw
e E |

(ii) aaﬁaﬁaﬁaﬁmmmﬁmm
1T |

.(iil)zﬁaaﬁaﬁﬁﬂwméﬁa’r&ﬂwﬁm
THTE b W FA A IR H,
mﬁwwﬁ%mﬁiﬁﬁmﬁ
=R |

Frafesd St ¥ yfe wfm w T e
<ifv R gedia St ) stauron #1 =
EUE IR I I PR Pl e o
‘AEaT F di" AW gEeH A neg F R
afafy +ft gemsy |

‘@A i Aniehia wAETd sk’ § it )

WO HAA 2§ ? I8 IR ‘SefeeT w wEerd
%9G@Tﬁ%wmam%wﬁﬁsqwaﬁ
=S HIf |

LMT-01

10



9. (%) %@%ﬁmm%aﬁﬁﬁmﬁw
B & 2370 I H HROT SO | 3

(@) IR HAEIE AR A 9 fRdt uh amiee
@R 1 Th I T | 38 TH giteT
# Rafia HIRT | SEeh T A1 ST B
Tt FO F e o e TR % S
THEA w4 ? 3

() et fspfafe (procedure) & e u ‘fafvrse
¥ =g hl AR W H e Hi =
i | qewea Pt @ daf o IaE T
T8 T Hif | 4

10. (%) ulharcus 3R ITURUTCHS T &1 F1 374
%o Pl %l % ded # TE W W
e e | few e wed w1 QA W

&3t ! fafia s 7 a==1 6 vee 37 FH

Y ? | 7
(@) SR ® F0 3 § 7 §n WAsA o

I R H TH-TH I AT | 3

LMT-01 11 - P.T.O.



11. ﬂﬁm%ﬁwﬁ%ﬁwaﬁwmﬁqﬁmqﬁa

it 1 gefag Hfm | 2 e T wE B e
A T A F G

& el # 5% 5 e fiew B ByT # 39%
7 %1 F0THCT (ig) 17 & 1

10



	ac3e16acd18a4f3cd04e83f621f43684cefdf18b87fc8d6fc5ebb45cdfe925e9.pdf
	e2a8ee3e93fb20e725eb944364d1c4fd2f2363aae780b48b90e36f71c1259b08.pdf

